= AH O
N = 0 &8 AF S & Al A
201EE 204a LEgIH MKIEDL ~ HSIEDH
2A: HSIEY
HH: HESSAMTY (2L 2Z/AR)
e MEXE (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
HEeEW 44,119,705 45,241,860 A1,122,155
= 554,000
z 10,840,000
p) 2,428,377
= 30,297,328
HEScAMdIE (2L 2H/MF) 44,084,705 45,208,860 A1,124,155
= 554,000
= 10,840,000
Dl 2,428,377
== 30,262,328
X 15,880,000 14,540,000 1,340,000
CHSINHA 10,320,000 9,300,000 1,020,000
307 QIz2to| A 10,320,000 9,300,000 1,020,000
02 DIZHEAE R 10,320,000 9,300,000 1,020,000
OZMSs2gH X 1,020,000
OSSN S AIEHI X & 9,300,000
NASHIESHLNS 5,520,000 5,200,000 320,000
307 GI2t0IH 1,900,000 1,700,000 200,000
02 QI2tZAB X 1,900,000 1,700,000 200,000
OCHYNER2SHIIESHENS 1,900,000
308 XX HHSOIH 3,620,000 3,500,000 120,000
01 MRSHIAEEZ 3,620,000 3,500,000 120,000
OANZEAE2SHIESHANS 3,600,000
OX&EsAIESL4NS 20,000
CEHR A S22 X 40,000 40,000 0
307 GI2t0IH 40,000 40,000 0
02 DIZHEASE X 40,000 40,000 0
OSEHA T AIHS2AH K& 40,000
H2HSUHI 2,060,000 3,713,500 A 1,653,500
SXADI(B) B S XA 50,000 50,000 0
307 GI2t0IH 50,000 50,000 0
02 DIZHEAE X 50,000 50,000 0
OZXADI(ENZIIH S XA 50,000
TXISHH A =S 0= X & 1,980,000 2,060,000 280,000
308 XX SHHSOIA 1,980,000 2,060,000 80,000
01 AXSHMBAEES 1,980,000 2,060,000 80,000
OM498 SOOI NMESHBI X & 1,500,000
OSSX21J|0tchEUa N = X & 50,000
OY9z=AtAQictE & X & 30,000
O&Z272EHA UM X 100,000




fA MESIEN
FH: HSScaZY (RL2Z/HK)
&t d=H=US (ctel: &
_ _ _ Muo
SNBSS - MEAY - BES 01l &k o e HlnE2
Od=722ASHESUH2AME X 300,000
LEMSHAK A 30,000 30,500 A500
201 LetEIH| 2,000 3,000 A 1,000
01 AFR 22l 2,000 3,000 A 1,000
Oget=3Hl 2,000
OLBHSHAMNEEZSHES 2,000
202 O4Hl 16,000 21,500 A 5,500
01 =Wl 16,000 21,500 25,500
OLUENSHAXNERFE AL 16,000
203 HRF&H| 11,000 5,000 6,000
03 AIBMFXAHRFEH| 11,000 5,000 6,000
OASHSHAMIA 5,000
O=HMHaHRF=a 6,000
3083 Z&= 1,000 1,000 0
01 Za3 1,000 1,000 0
OS2 HERESSRE A 1,000
= MU= 2,230,000 850,000 1,380,000
= 500,000
& 1,730,000
= M2 = X & 250,000 200,000 50,000
308 MHXIHHMSOIA 250,000 200,000 50,000
01 MHXSHMBLEXZ 250,000 200,000 50,000
O2011Z==H0tetEUS X2 200,000
O2011=2MsAa8sS 20U K& 50,000
0B =NAENA = =TS OHE X & 500,000 0 500,000
201 Let2d| 200,000 0 200,000
01 AFR 22| 200,000 0 200,000
O Et==Z | 200,000
OMAHAE =AU EE 200,000
403 KX EMSK=01H 300,000 0 300,000
01 RXSMA2E = 300,000 0 300,000
O2011ZFHIHEH A S & =AU 3 Al & HI 300,000
01MEFHAHACSHd=AUS XN (BEX) 1,380,000 0 1,380,000
= 500,000
= 880,000
308 MHXIHHMSOIA 1,380,000 0 1,380,000
= 500,000
& 880,000
01 MXSHILEEXZ 1,380,000 0 1,380,000
O20EFAAHEBA S =AU XA (EX) 1,380,000




FAM: HEAE
M NSSERAZE (B 2Z/HS)

col: 23 (el @R
SA-E . S(E) - MEAY - BES 01l &4 24 e HIRE
= 500,000
= 880,000
2015MI A Z I M S T2 X & 100,000 0 100,000
201 LEH2HH| 100,000 0 100,000
01 AtE22(H] 100,000 0 100,000
Deet=3l 100,000
OKIH 20l S0H 3 100,000
MEH XA 4,913,205 4,210,860 702,345
Il 2,403,377
7 = 2,509,828
CHEN=SIXZ 1,726,000 1,655,000 71,000
307 2120l & 1,726,000 1,655,000 71,000
02 Qlt3aE X 1,726,000 1,655,000 71,000
OEMEX=229H XA 306,000
= A48 S 5] M2 I Xl & 1,400,000
OE2N S 205 &I 2 20,000
HEN=S2ILNEXH 479,920 289,000 190,920
308 NXIEHHSOIH 479,920 289,000 190,920
01 AXEHINELS 479,920 289,000 190,920
BRSPS 289,920
OARS RS2 LIX 2 92,000
OAZ=SH2EAA 68,000
SEEEREN B E 30,000
CHEH S X =X X 41,856 41,856 0
Il 20,928
< 20,928
307 QI12t0ld 41,856 41,856 0
Il 20,928
= 20,928
02 QI AE X 41,856 41,856 0
OE M E X = Xl &= Xt X 41,856
Il 20,928
= 20,928
o M=sgsSkdE 80,928 60,928 20,000
Il 30,464
= 50,464
307 GI12t0lH 80,928 60,928 20,000
Il 30,464
< 50,464
02 QIFAE X 80,928 60,928 20,000
O=02ddsgsid 80,928
Il 30,464
= 50,464




2AM: HFI=
HH: HESCAMEHE(2ULAEL/HE)
el MBS =CR-EY
M- EB .S (SH) - MEAY - BAS 0l Ak 04 dE = Hm=2
- =) = = oS = ) 0:”/&,% W5
CHMEH RIS AIE XA 139,464 86,800 52,664
J| 69,732
c 69,732
307 QIz2tol & 139,464 86,800 52,664
J| 69,732
= 69,732
02 BIZ2HAEAMEX 139,464 86,800 52,664
OCMENSREALI 139,464
| 69,732
= 69,732
Al 2 M EH = X & XHH X 1,308,000 1,245,216 62,784
J| 1,245,216
c 62,784
308 AFXIEHHI SO 1,308,000 1,245,216 62,784
J| 1,245,216
= 62,784
01 IXEHHIAEEXZ 1,308,000 1,245,216 62,784
Al &= Xl = AHHH X 1,308,000
| 1,245,216
o 62,784
ANZHEAMESESKA 418,560 418,560 0
J| 418,560
308 AHXIHAHSOIA 418,560 418,560 0
| 418,560
01 IXESHHINEXZ 418,560 418,560 0
OAZHEANM=E2sAE 418,560
| 418,560
MESHILSHAIEAIE X & 698,477 315,000 383,477
J| 618,477
= 80,000
308 AIXIHASOIA 698,477 315,000 383,477
| 618,477
= 80,000
01 AIXSHHMIMNEXZ 698,477 315,000 383,477
COHSHSRSHAIEHAIE XS 698,477
J| 618,477
°c 80,000
TOIMESEH =N 20,000 29,500 29,500
201 LEt2AH| 2,000 3,000 A 1,000
01 AR 2t2ld] 2,000 3,000 A 1,000
[Jut=ZH| 2,000
OLZSMEHSHAIZEESHNES 2,000
202 O4d] 13,000 20,500 AT7,500
01 2Wobl 13,000 20,500 27,500




fA MESIEN
M WSS /AMTE(2SL2H/US)
Crol: MBS CLIEED
S A .S (FH) - NBAY - BHAS Al OH &EIE Hn=2
O deEdsedatdRFAAH 13,000
203 HRF&Y| 5,000 6,000 A 1,000
03 AIMFXAHRFEH| 5,000 6,000 A 1,000
OSNSANEYLFX 5,000
HOHCI A = XI & 1,945,000 1,552,500 392,500
| 25,000
= 1,920,000
SN = XA 1,660,000 1,319,000 341,000
307 212t01H 1,660,000 1,319,000 341,000
02 GI2tAAEX 1,660,000 1,319,000 341,000
O &HMeIN=ss 23 348,000
O &M= AISEY 1,312,000
ZOHCI N =3 &I 0= XI& 70,000 70,000 0
307 212t01& 70,000 70,000 0
02 QIZtBAE X 70,000 70,000 0
O&8==s0t M =02 &IHA 30,000
O SAAE =S OHE X & 20,000
OMS=HEHMAH0t2ENUS 20,000
oI =s229H K& 73,500 58,500 15,000
308 AXIHMSOIA 73,500 58,500 15,000
01 AXNSMBLNEES 73,500 58,500 15,000
OS2I X2 (30 2) 73,500
SHOMHMEXNSHMAE M= X2 130,000 105,000 25,000
| 25,000
= 105,000
307 gI2told 130,000 105,000 25,000
| 25,000
= 105,000
02 QIZ+AAMEX 130,000 105,000 25,000
CIHI133 S &Nl M & X = CH A & OH = X & 130,000
Il 25,000
& 105,000
HFOHeINSHRFA 11,500 0 11,500
201 LBt AH| 2,000 0 2,000
01 AtER22|H] 2,000 0 2,000
OASHMHIMSEANESEEN 2,000
202 O4dl 9,500 0 9,500
01 =LHOA b 9,500 0 9,500
OXMHeIN S22 HRF 9,500
MESALARNSHES - 22 16,929,500 20,312,000 23,382,500




=

FA: HEED
OOC

SN NSSCANNE(2AUB/UR)
&SR MSALANSHES - 22 (etel: =3
S - FE - E9(E) - MR A oy S e DB
2 10,840,000
= 6,089,500
HMEISAEXH 13,218,000 14,082,000 864,000
2 10,840,000
= 2,378,000
403 A XIEHSXH=01H 13,218,000 14,082,000 864,000
& 10,840,000
S 2,378,000
01 AXEHMA2E X 13,218,000 14,082,000 A 864,000
IES e Seal= 950,000
= 950,000
OM=ALMs2A 1,730,000
= 1,730,000
OO0 2sEE EEA=EY 2,650,000
= 2,150,000
= 500,000
O=E3L=2sd 2,781,000
& 2,151,000
= 630,000
O A HEILIAZ 1,397,000
2 1,089,000
= 308,000
OZyzoligl2e 22 130,000
= 90,000
= 40,000
OFgdassdry 240,000
& 160,000
= 80,000
fetsoletel 23032 d 1,450,000
= 1,150,000
< 300,000
O 01 & 0H el Xl = 2 700,000
= 500,000
& 200,000
Od == Mot ZH2+&ELd 390,000
2 270,000
S 120,000
DE=S4UEH=s 300,000
= 300,000
OSB3I Al 500,000
= 300,000
< 200,000
SOIHEAIE N S 2,200,000 3,000,000 800,000
403 A XISHHSK=201H 2,200,000 3,000,000 800,000
01 XM= E X 2,200,000 3,000,000 A800,000
OM492 = & =M & Al 2= 1,500,000
CIAIS02 ROl =M & Al 2 == 700,000
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